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Q1                                                       Short Answers  M 
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  3.a F(2 ;0 ;2) and  G(0 ; 2 ; 0)  ,   eq. of   (FG) : x = – 2t , y = 2t + 2 , z = 2. ½  

3.b 

The  plane of eq. z = 0 is the plane (AOB) ; (FG) // (AB) then (FG) // (OAB), since (d) is 

the line of intersection of (OFG) and (OAB) , hence (FG) //(d). 

 OR :the equation of (OFG) is :  x + y – z = 0  . (d) : x =m , y = – m  ,  z = 0. 
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   Therefore they are parallel. 
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3.c 

The distance between  (d) and  (AB) is the distance from O to  (AB)  since (d) passes 

 through O , and (d) //(AB), then  d =
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3 (T) : )0(fx)0('fy   ;   y = 2x + 1. ½  
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f is continuous, strictly increasing on IR and varies from  to  +  , then the equation  

f(x) = 0 has a unique solution  .   

f(– 0.5)  f(–0.4)= – 0.148 0.1081< 0  then  – 0.5 <  < – 0.4. 
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6.a See the figure. ½  
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6.c 

 The region bounded by the curve (G) , the axis of abscissas and the two lines of     

  equations x = 0 and  x = 1 , is symmetric of the preceding region with respect of the   

  line of equation  y = x , therefore the required area is equal to A().  
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